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FH ARk B Beta t

B 3.787 0.750 2,784

TN 5 2.138 0.212 1.940

olF A FF 3.618 0.718 2.637#x
A37x A A NS 0.218 0.501 4,635

THe] F 0.401 0.218 3.000x
H ey A E -4.605 -0.188 -2.670%#x

o0& W3 FHoRE ARE -0.935 -0.152 -2.147x

R? —value 0.602
F 18.340***
p<0.05 =% p<0.01 =** p<0.001 >***
ZHAR, o] FAY K5, A7 A AEE A, FH S, HAAE

A5 ) (G2 BF FHoR ALE) 5o FHQ
o] F¥AREo] FFo IFLS nXga & F IS
vl BEA 7| A F A 27| =3P AL
F A=t B Beta t
(4 5.605 13.385#x*
o]l M 5 0.150 0.195 1.945
A37z2 A A N4 0.747 0.914 10.352%%x
A37x T A3 {F5F 3.736 0.351 3.879
e 91y Fuaow ALg 2.010 0.354 3.649
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